FE77EEFEFNRSUIN O REITT I RS

2024/7/15
LD | A—%—XA | clover | BEEBF | east | MEE |Raobs | P, | BxAZ | EG
@) X X 1 — 2|3 — 6|7 — 12|212 — 244
XA 2 — 1|1 — 2|0 — 3| (1) | (-3) | (-5) ( -32 ) 3
4 — 2|3 — 4|0 — 6
87 — 67172 — 87|53 — 90
X X X 0 — 3|2 — 7|4 — 14149 — 263
clover T - 2 1 — 2|0 — 3| (-3) ( -5) (-10) (-114) 4
2 — 4 2 — 4]0 — 6
67 — 87 57 — 86|25 — 90
@) ®) X 2 — 1|4 — 59 — 111|250 — 229
memer| 2 — 1|2 — 0 — 3| (1) ( -1) ( -2) ( 21 ) 2
4 — 3|4 — 2 1 — 6
87 — 7218 — 57 77 — 100
@) @) (@) 3 — 0|9 — 0|18 — 1280 — 155
east 3 - 3 — 0|3 — o0 ( 3) ( 9) ( 17 ) ( 125 ) 1
6 — 0 6 — 0 6 — 1
90 — bHh3]190 — 25 (100 — 77

1/7R=2




R4 FTTRIRRREEFF)77 did

B : H{RE(L-D)

HEES: 1 (UL—F—XA vs clover)

=i5: Ak -Ytva-

IL—F—XA

D1

LB LN\DH

D2
g [FDOE

K =F

D3
B3 T
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L-D
2 - 1
15 —
15 — 8
15 — 10
15 — 13
14 — 15
13 — 15

clover

FTIE FE

B TE

Ek B+

FE ERXE

EAE BF

i BEF



R4 FTTRIRRREEFF)77 did

B : H{RE(L-D)

HEES: 2 (EETEBF vs east)

=i5: Ak -Ytva-

R EFEBF

AR =i

D1
ALH B+

Tk ERF
D2
ic s SIS

A Rifc

D3
A BF

3/ 71 R=

L-D
0O - 3
13 — 15
12 — 15
9 — 15
10 — 15
15 — 14
11 — 15
7 — 11

east

TH %A

ESJERES

R B

P Fam

KR BkE

BH Y8



RE4: FIEARRREEF)77 dind
#EEB: H{AE(L-D)

HEES: 3 (clover vs RETHBF)
=15 AR -YtU4-

L-D
clover 1 - 2 REFEBF
T3 173 g8 — 15 ESZ O S T
D1 0 7 — 15 2
=25 T8 — bl BF
ki BF 6 — 15 R =B
D2 0 6 — 15 2
FE EHRx — Hth EF
SEE HF 15 — 14 1k ERXF
D3 2 |15 — 12|
hft EEF — A %
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R4 FTTRIRRREEFF)77 did

B : H{RE(L-D)

HEES: 4 (JL—F—XA vs east)

=i5: Ak -Ytva-

IL—F—XA

D1

LB LN\DH

D2
g [FDOE

R =F

D3
B3 T

5/7R—=

L-D
0O - 3
6 — 19
7 — 15
11 — 15
9 — 15
8§ — 15
12 — 15

east

TH %A

ESJERES

R B

P Fam

KR BkE

BH Y8



R4 FTTRIRRREEFF)77 did

B : H{RE(L-D)

HEES: 5 (clover vs east)

=i5: Ak -Ytva-

clover

FE HE

D1
B TE

Ek B+

D2
e EHRX

mAE BF
D3
i BEF

6/7R—

L-D
0 - 3

— 15
4 — 15
2 — 15
6 — 15
5 — 15
3 — 15

east

TE %A

ESJERES

R B

P Fam

KR BkE

BH Y8



RKEd: FIMERREXSEEF)77 3
#EH: E#FE(L-D)
HEFES: 6 UL—F—XAvs REFEBF)
215 AR -VtUs-

L-D
IL—F—XA 1 - 2 = PaBF
BA ERZE 10 — 15 ESZ S 3T
D1 1 15 — 11 2
fH EX 9 — 11 ki EKF
LLIEZ VD H 15 — 11 i 7 =Y 53
D2 2 15 — 9 0
LB (DOF — JLiE #8F
K EF 3 — 15 FAHE %
D3 0 | 5 — 15| o
M3 EF - B BF
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